EAGRAROBREERT — 2 N— ABISH —F 20201311 (&) 1ExRER3H

> % 3 KA (BE) [Tl BE ‘ Xz # ‘ BEsEl - |2 (&) 2000 B
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
WmEBR MK ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
MRS — 4 3 E%U(J)EHZ 2:(1_7).6 1-1-1-1 | 36.2| 88.9 | 14 :13) ?r(i)ﬂﬁ(f%)
:d—WRYy T B:YaT7—0b ARXRETa—-T7—L4L
o o% BEEEX 7. —-12-10- . . KARES (FER)
FRZA AT 10— 4 3 e (21117/28) 12-12-10-9 | 35.5 | 86.8 | 7 a%s) mﬁ;
L:T7x/—Xx/ B:XUzT7bIvan J—YTr—L
FUVET7LR H 3 57%%%‘” 2:(138).3 13-14-14-12| 35.7 | 82.0 | 11 (ﬁ) ﬁﬁ)—%jff)
LIET7 7247 BRIV KITHY HET7—L
. EmEA -18. -8-6- . . TRARE (R%)
KLY T 3 I 2(/1{;:)3 9-8-6-6 |36.3| 82.0 | 6 zzg? P
R:T7—ILRI—-X B:O-H¥F47<> b ILIL, YYET7—L
e t 3 | fBKt— 2:18.5 9-8-9-9 |36.3| 80.1 | 4 462 | MAEER (3ER)
E—hrA2E-+ g 5.0 (' 1/4) -2) A(75) HEL—ZK—X
XL THANAN Bt —F "HET7— L
- S. 74—U— 2:18. 54— . . SHEM (BX)
6|11 ([ N—YTURZIL "l 56.0 (11/82>6 Go4s %8 W33 ?:);1 BRI ILY
LN—=VT54 B:RVHAFTUER J—HrTr—LA
N C. ILx—Jb . _0_n_. ZHAME (EXR)
7 6l 7T 43 S 2(/1&;33 2-2-2-2 | 37.1| 79.4 | 1 (4&2) %Bﬂﬁ%
L:TvRayz4 B:TIN—-2a L &R
sy 4| HILFIURE # 3 | KB 2:(128).9 5-5-6-6 [36.9| 76.4 | 9 | 524 ;gég (FER)
Qi s hT—NEY B:iOLy hF oL O i S5P S
S 4 3 | EEREN 2:19.1 16-16-16-15( 36.2 | 74.2 | 5 420 |EEEE (ER)
9/5]9 VS R/ s el 54.0 ! (1 1/4) (-2) (¥) G1Lr—>27
R:Fq4=T1>n7F B:L=Z-Xdy bIy 7T HBE77— L4
S S # 3 | RIUE—EB 2:19.5 7-8-10-11 [37.1] 70.9 | 12 | 464 |BEEARE— (RX)
10/5[10| B—FZ7xzH—-X 56.0 @ 1/2) 4y | ) O-Fx—2557
RIAY>T7I9va BiTF4T7—F FLTA T 57— I
. S B 3 | EHEBZ 2:19.7 13-12-12-12| 37.3 | 69.2 | 16 | 470 |MAE (FX)
1)8l1e| 7T~ LF—F 54.0 (1 178 Lo | W T
L:ANTz—F B:ORETFLLF AXETa—T7—L4A
= 3 | JIIEEHE 2:19.7 3-4-4-3 |38.0| 69.8 | 2 470 | REEX (RR)
12|8[15| * 7~ % 6.0 (nF) Cio) | REF—
RN=YI54 B:LY4s—F J =¥ Ty — I
© e JNBfEZ :19. -11-12- . . BAHREE (EX)
1312 TV R TEZ i3 e 2(*7195)7 11-11-12-12| 37.2 | 69.1 | 13 ;1;0) i
XL THANAN Bd v ITHh HROUE D45
. 4 3 | EHERH 2:20.1 7-7-6-6 | 38.2| 66.4 | 8 520 | AZILEEHE (3E3R)
14/ 7113 IEXx1—J)b 56.0 (2 1/2) 0 pan:=51=2 N
RiFLITHANAN BT TYRRATINY HET7— L
R MAZB= . 33— AIRE (EX)
5l1l2|vaEs—7F i 3 M 2.(230).6 3-3-3-3 [38.9| 62.9 | 10 (4_842) SRl
LIET77x47 B:U—YLAH FHBSE
N SR EE— . _ 1415 BOEY (EX)
16 NELT 3 L 2.(241).3 13-14-15-15| 38.4 | 56.0 | 15 (4_9‘3 WBEM
:0-Kp#+0O7 B:E-Z>F7142R B
@ 71 L
) 49.0-36.2
NA>Z4 L | 12.6-10.9-12.7-12.9-13.1-13.2-13.2-12.8-12.0-12.1-12..1
® I —F—@EBIERL
13—7F— |5,6(2,15)4,1(10,13) (7,14)12,11-(3,8,16)-9
2o =7= 5-6,2,15(1,4)13(7,10,14)12(11,16) (3,8)9
Fol=5r= 5,6,2(1,15) (7,4,13)14(11,10) (12,16)3,8,9
40—+ — (x5,6) (2,1,15) (7,4,13) (11,14)10(3,12,16) (9,8)
[ N3
B O 5 8,280 714K 5-11 12,950 7 E 3-6 3,320M RPEL ) 3-5-11 524,760/
18 B 5 2,560 &5 26,160M B = 5-11 51,430M K31 5-11-3| 3,148,140H
1 720M 3-11 6,510M| | B H 5-11 94,020/
3 930H

ABRICOVTHRTEEERROODE, THEB LS,




